New Maths GCSE: A18 - Putting values into the Quadratic

Formula

In this equation what is the value of “a”?

b Vb? = 4ac
2x? + 4x + 9=0
A) 4 B) 9
) 2 D) 0
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In this equation what is the value of “a”?

x=—bi\/m
7x + 3x2+ 5=0
A) 7 B) 3

c) s D)} 0
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In this equation what is the value of “b"?
‘= —b + Vb? - 4ac

52 +x+7=0

A) 0 B) 7
&) X D) 1
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Correct Answer: ABCD

Explanation:

Correct Answer: ABCD

Explanation:

Correct Answer: ABCD

Explanation:
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In this equation what is the value of “b”? Correct Answer: AB CD
‘= —b + vb? — 4ac

- Explanation:

e i K -3 KO

-6 B) 5

6 D) 19
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In this equation what is the value of “b"?

Correct Answer: ABCD
‘= —b + vVb? — 4ac

o Explanation:
BX2+5X+ 420X | s

11 B) 6

5 D) =
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Correct Answer: ABCD

In this equation what is the value of “a”?

x o DA dac Explanation:
BX2 4 2X + 202X% | e
] B) R

5 D) 1
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Correct Answer: ABCD

In this equation what is the value of “c”?

p o DD dac Explanation:
AX? 42X -3=16 | e
. B) o || e

-16 D) 19
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Correct Answer: ABCD

In this equation what is the value of “c”?

x o B dac Explanation:
BX(X -2X+ 3)20 | e
A) \ B) || e
0) . D) L || e
s

Correct Answer: ABCD

In this equation what is the value of “a”?

p = P A Explanation:
2X(3X +2)-820 | e
A) 6 B) 3 ..........................................................................
C) 5 DY theretsmeone | | s
1 e L
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